MATHS

BOOKS - NCERT MATHS (ENGLISH)

COORDINATE GEOMETRY

Exercise 7 1 Multiple Choice Questions Mcqs

1. The distance of the point P(2,3) from the X-

axis is



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8EB314C09nEU

A2

B.3

C.1

D.5

Answer: B

o Watch Video Solution

2. The distance between the points A(0,6) and

B(0,-2) is


https://dl.doubtnut.com/l/_8EB314C09nEU
https://dl.doubtnut.com/l/_G8nERm1kVkpy

A.6

B.8

C.4

D. 2

Answer: B

° Watch Video Solution

3. The distance of the point P(-6,8) from the

origin is


https://dl.doubtnut.com/l/_G8nERm1kVkpy
https://dl.doubtnut.com/l/_f97HZV8vkl3K

D.6

Answer: C

o Watch Video Solution

4. The distance between the points (0,5) and

(-5,0) is


https://dl.doubtnut.com/l/_f97HZV8vkl3K
https://dl.doubtnut.com/l/_TZCwU5Z7UYrN

A5

B.5+/2
C.2\/5

D.10

Answer: B

o Watch Video Solution

5. If AOBC is a rectangle whose three vertices
are A(0,3),0(0,0) and B(5,0), then the length of

its diagonal is


https://dl.doubtnut.com/l/_TZCwU5Z7UYrN
https://dl.doubtnut.com/l/_mJttQ1bXduNU

A5

Answer: C

o Watch Video Solution

6. The perimeter of a triangle with vertices

(0,4),(0,0) and (3,0) is


https://dl.doubtnut.com/l/_mJttQ1bXduNU
https://dl.doubtnut.com/l/_S3Oy6R3ilE9W

A5
B.12
C. N

D.7+ /5

Answer: B

o Watch Video Solution

7. The area of a triangle with vertices

A(3,0),B(7,0) and C(8,4) is


https://dl.doubtnut.com/l/_S3Oy6R3ilE9W
https://dl.doubtnut.com/l/_HgM9ANXtl9ia

A 14

B. 28

C.8

D.6

Answer: C

o Watch Video Solution

8. The points (-4,0),(4,0) and (0,3) are the

verticess of a


https://dl.doubtnut.com/l/_HgM9ANXtl9ia
https://dl.doubtnut.com/l/_dmoYkJIxiKgX

A.right angled triangle

B. isosceles triangle

C. equilateral triangle

D. scealene triangle

Answer: B

o Watch Video Solution

9. The point which divides the line segment
joining the points (7,-6) and (3,4) in ration 1: 2

internally lies in the


https://dl.doubtnut.com/l/_dmoYkJIxiKgX
https://dl.doubtnut.com/l/_dzgtP47g285l

A. |l quadrant

B. Il quadrant

C. lll quadrant

D. Iv quadrant

Answer: D

o Watch Video Solution

10. The point which lies on the perpendicular
bisector of the line segment joining the points

A(-2,-5) and B (2,5) is


https://dl.doubtnut.com/l/_dzgtP47g285l
https://dl.doubtnut.com/l/_ugfnslS3pOuu

A. (0,0)

B. (0,2)

C.(2,0)

D. (-2,0)

Answer: A

o Watch Video Solution

11. The fourth vertex D of a parallelogram
ABCD whose three vertices are A (-2,3), B (6,7)

and C (8,3) is


https://dl.doubtnut.com/l/_ugfnslS3pOuu
https://dl.doubtnut.com/l/_qKmKXl3KDRFF

C. (-1,0)

D. (1,0)

Answer: b

° Watch Video Solution

12. If the point P(2,1)lies on the line segment

joining points A(4,2)and B(8,4), then


https://dl.doubtnut.com/l/_qKmKXl3KDRFF
https://dl.doubtnut.com/l/_2hWJNWNutBZS

1
A AP = —AB
3
B.AP = PB
C.PB = 1AB
' 3
1
D.AP = §AB
Answer: D

o Watch Video Solution

13.1f P (%, 4) is the mid - point of the line

segment joining the points Q(-6,5) and R(-2,3),

then the value of a is


https://dl.doubtnut.com/l/_2hWJNWNutBZS
https://dl.doubtnut.com/l/_ZzHXJ4LX8rLL

Answer: B

° Watch Video Solution

14. The perpendicular bisector of the line
segment joining the points A(1,5) and B(4,6)

cuts the Y-axis at


https://dl.doubtnut.com/l/_ZzHXJ4LX8rLL
https://dl.doubtnut.com/l/_kXkHPHzDCv32

A. (0,13)

B. (0,-13)

C.(0,12)

D. (13,0)

Answer: a

o Watch Video Solution

15. The coordinates of the point which is

equidistant from the three vertices of the


https://dl.doubtnut.com/l/_kXkHPHzDCv32
https://dl.doubtnut.com/l/_gCKwdmcRYkWt

A\ AOB as shown in the figure is

A

O, 2y) <

»X

X' <



https://dl.doubtnut.com/l/_gCKwdmcRYkWt

Answer: A

o Watch Video Solution

16. If a circle drawn with origin as the centre

13

passes through (7,0), then the point

which does not lie in the interior of the circle


https://dl.doubtnut.com/l/_gCKwdmcRYkWt
https://dl.doubtnut.com/l/_R5x2CQXXX6jg

Answer: d

° Watch Video Solution

17. A line intersects the Y- axis and X-axis at the
points P and Q, respectively. If (2,-5) is the mid-
point of PQ, then the coordinates of P and Q

are, respectively.

A. (0,-5) and (2,0)


https://dl.doubtnut.com/l/_R5x2CQXXX6jg
https://dl.doubtnut.com/l/_J0JTdugzD5cc

B. (0,10) and (-4,0)

C.(0,4) and (-10, 0)

D. (0,-10) and (4,0)

Answer: D

o Watch Video Solution

18. The area of a triangle with vertices (a,b+c),

(b,c+a) and (c,a+b) is

A (a+b+c)


https://dl.doubtnut.com/l/_J0JTdugzD5cc
https://dl.doubtnut.com/l/_8AaeN5FJIYjT

B.O

C.(a+b+c¢)

D. abc

Answer: b

o Watch Video Solution

19. If the distance between the points (4,p) and

(1,0) is 5, then the value of p is

A. 4 only


https://dl.doubtnut.com/l/_8AaeN5FJIYjT
https://dl.doubtnut.com/l/_dMPQq5KluxKf

B.t4

C. —4only

D.O

Answer: B

o Watch Video Solution

20. If the points A(1,2) , B(0,0) and C (a,b) are

collinear , then

A. a=b


https://dl.doubtnut.com/l/_dMPQq5KluxKf
https://dl.doubtnut.com/l/_I4SFIV9LTsu6

B.a=2b

C.2a=b

Answer: c

o Watch Video Solution

Exercise 7 2 Very Short Answer Type Questions

1. State whether the following statements are

true or false. Justify your answer


https://dl.doubtnut.com/l/_I4SFIV9LTsu6
https://dl.doubtnut.com/l/_iePNlDLfnHxv

/\ ABC with vertices A (-2,0),B (2,0) and C (0,2)
is similar to /\ DEF with vertices D (-4,0) ,E

(4,0) and F (0,4).

o Watch Video Solution

2. The point P(-4,2) lies on the line segment

joining the points A(-4,6) and B (-4,-6).

° Watch Video Solution

3. The points (0,5) , (0,9) and (3,6) are collinear.


https://dl.doubtnut.com/l/_iePNlDLfnHxv
https://dl.doubtnut.com/l/_9DQuNJ9T3ZMQ
https://dl.doubtnut.com/l/_lMUCLzfnijzb

° Watch Video Solution

4. Point P(0,2) is the point of intersection of Y-
axis and perpendicular bisector of line

segment joining the points A(-1,1) and B(3,3).

° Watch Video Solution

5. The points A(3,1) , B (12,-2) and C(0,2) cannot

be vertices of a triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_lMUCLzfnijzb
https://dl.doubtnut.com/l/_3ScNduX383YK
https://dl.doubtnut.com/l/_NKWxESQ3d1Gz

6. State whether the following statements are
true or false. Justify your answer:
The points A(4,3), B(6,4), C(5,-6) and D(-3,5) are

vertices of a parallelogram.

° Watch Video Solution

7. A circle has its centre at the origin and a
point P (5,0) lies on it . The point Q (6,8) lies

outside the circle.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_NKWxESQ3d1Gz
https://dl.doubtnut.com/l/_AhnIE4P70WkC
https://dl.doubtnut.com/l/_xEP51oX0Y8hO

8. The point A (2,7) lies on the perpendicular
bisector of the line segment joining the points

P (5,-3) and Q(0,-4).

° Watch Video Solution

9. The point P (5,-3) is one of the two points of
trisection of line segment joining the points

A(7,-2) and B(1,-5).

° Watch Video Solution



https://dl.doubtnut.com/l/_xEP51oX0Y8hO
https://dl.doubtnut.com/l/_ODZK3CoZQvaS
https://dl.doubtnut.com/l/_T9OGTYkTyzy6

10. State whether the following statements are
true or false. Justify your answer:

The points A (-6,10), B(-4,6) and C(3,-8) are
collinear such that

2
AB = §AC'

° Watch Video Solution

11. The points P (-2,4) lies on a circle of radius 6

and centre (3,5).

| €8 |


https://dl.doubtnut.com/l/_T9OGTYkTyzy6
https://dl.doubtnut.com/l/_IwrXoEcZ5R65
https://dl.doubtnut.com/l/_m9sdkcUDWRaj

| ¥ Watch Video Solution J

12. The points A (-1,-2), B (4,3) ,C (2,5) and D

(-3,0) in that order form a rectangle.

° Watch Video Solution

Exercise 7 3 Very Short Answer Type Questions

1. Name the type of triangle formed by the

points A (-5,6) , B (-4,-2) and C (7,5).

I o Watch Video Solution


https://dl.doubtnut.com/l/_m9sdkcUDWRaj
https://dl.doubtnut.com/l/_aNFYuaSQnN7a
https://dl.doubtnut.com/l/_CXgNnOCn6URr

2. Find the points on the X-axis which are at
distance of 2,/5 from the point (7,4) . How

many such points are there ?

o Watch Video Solution

3. What type of quadrilateral do the points A
(2,-2), B (7,3) C(11,-1) and D (6,-6) taken in that

order from?

o Watch Video Solution



https://dl.doubtnut.com/l/_CXgNnOCn6URr
https://dl.doubtnut.com/l/_DNlEWfe1RXcQ
https://dl.doubtnut.com/l/_d8pZh3Tx1CA3

4.Find the value of a, if the distance between

the points A (-3,-14) and B (a,-5) is 9 units.

o Watch Video Solution

5. Find a point which is equidistant from the
points A(-5,4) and B (-1,6). How many such

points are there ?

o Watch Video Solution



https://dl.doubtnut.com/l/_d8pZh3Tx1CA3
https://dl.doubtnut.com/l/_ID5BYMrbJWDH
https://dl.doubtnut.com/l/_Zl9CvsRsc27w
https://dl.doubtnut.com/l/_iubtxjwEFenm

6. Find the coordinates of the point Q on the
X- axis which lies on the perpendicular
bisector of the line segment joining the points
A (-5,-2) and B (4,-2). Name the type of triangle

formed by the points Q , A and B.

o Watch Video Solution

7. Find the value of m, if the points (5,1), (-2,-3)

and (8,2m) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_iubtxjwEFenm
https://dl.doubtnut.com/l/_jI6WaHAqNmgt

8. If the points A(2,-4) is equidistant from P
(3,8) and Q (-10,y), then find the value of y . Also

, find distance PQ.

o Watch Video Solution

9. Find the area of the triangle wohose

vertices are (-8,4) ,(-6,6) and (-3,9).

° Watch Video Solution



https://dl.doubtnut.com/l/_ruYHig0RH7p0
https://dl.doubtnut.com/l/_4Y58uKG9hgpQ

10. In what ratio does the X -axis divide the line
segment joining the points (-4,-6) and (-1,7) ?

Find the coordinates of the points of division.

o Watch Video Solution

1. Find the ratio in which the point P

3 3 - : .
(Z’ E) divides the line segment joining

1 3
the points A (5, 5) and B (2,-5).

° Watch Video Solution



https://dl.doubtnut.com/l/_4BHg37wLbv9x
https://dl.doubtnut.com/l/_pdlDvRBaDMKO
https://dl.doubtnut.com/l/_I1oeeqtwyuDK

12. If P (9a-2,-b) divides line segment joining A
(3a+1,-3) and B(8a,5) in the ratio 3: 1, then find

the values of a and b.

° Watch Video Solution

13. If (a,b) is the mid - point of the line
segment joining the points A (10,-6), B(k,4) and
a-2b =18, then find the value of k and the

distance AB.

o Watch Video Solution



https://dl.doubtnut.com/l/_I1oeeqtwyuDK
https://dl.doubtnut.com/l/_gMminrS9jiq2

14. If the centre of a circle is (2a,a-7) ,then Find
the value of a, if the circle passes through the

point (11,-9) and has diameter 10\/5 units .

o Watch Video Solution

15. The line segment joining the points A(3,2)
and B (5,1) is divided at the point P in the ratio
1:2 and it lies on the line 3z — 18y + k = 0.

Find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_A5DIs7dg26HM
https://dl.doubtnut.com/l/_OqOT3bQa6tEe

the mid - points of sides of A ABC, then find

the area of the A\ ABC.

° Watch Video Solution

17. If the points A (2,9), B (a,5) and C (5,5) are
the vertices of a /A ABC. Right-angled at B,

then find the values of a and hence the area of

AN\ ABC.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_OqOT3bQa6tEe
https://dl.doubtnut.com/l/_I4j2I19TQKCT
https://dl.doubtnut.com/l/_QkuJPas9RjNm

18. Find the coordinates of the point R on the
line segment joining the points P(-1,3) and Q

3
(2,5) such that PR = T PO.

° Watch Video Solution

19. Find the values of k, if the points A (k+1,2k)

,B (3k,2k+3) and C (5k-1,5k) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_QkuJPas9RjNm
https://dl.doubtnut.com/l/_BzFJrvn9I4DC
https://dl.doubtnut.com/l/_qpyOMOxlV5BU
https://dl.doubtnut.com/l/_XkJA2mYdPoOs

20. Find the ratio in which the line
2z 4+ 3y — 5 = 0 divides the line segment
joining the points (8,-9) and (2,1). Also find the

coordinates of the points of division.

° Watch Video Solution

Exercise 7 4 Long Answer Type Questions

1. If (-4,3) and (4,3) are two vertices of an

equilateral triangle, then find the coordinates


https://dl.doubtnut.com/l/_XkJA2mYdPoOs
https://dl.doubtnut.com/l/_qXTh7uf9CgzA

of the third vertex, given that the origin lies in

the interior of the triangle.

° Watch Video Solution

2.A(6,1) ,B (8,2) and C (9,4) are three vertices of
a parallelogram ABCD . If E is the mid - point of

DC , then find the area of /A ADE.

° Watch Video Solution



https://dl.doubtnut.com/l/_qXTh7uf9CgzA
https://dl.doubtnut.com/l/_THfstruTiiDM

3. The points A
(%1, Y1), B(x2, y2) and C(z3,y3) are the
vertices of /A ABC.

(i) The median from A Meets Bc at D. Find the
coordinates of the points D.

(i) Find the coordinates of the point P on Ad
such that AP: PD = 2:1.

(iii) Find the coordinates of points Q and R on
medians BE and CF, respectively such that
BQ:QFE =2:1 and CR: RF = 2:1.

What are the coordinates of the centroid of

the A ABC?


https://dl.doubtnut.com/l/_m2z2NXss30yH

° Watch Video Solution

4. If the points A (1,-2), B (2,3) , C (a,2) and D
(-4-3) form a parallelogram , them find the
value of a and height of the parallelogram

taking AB as base.

o Watch Video Solution

5. Students of a school are standing in rows

and columns in their playground for a drill


https://dl.doubtnut.com/l/_m2z2NXss30yH
https://dl.doubtnut.com/l/_3yQLbI3OlGHS
https://dl.doubtnut.com/l/_H9tOxoXHT6Wc

practice . A, B, C and D are the positions of
four students as shown in figure . Is it possible
to place Jaspal inn the drill in such a way that
he is equidistant from each of the four
students A, B C and D ? If so, what should be

his position ?

O

B
9
8
¢
oC
5 a
X C
3
5
1 )

123456 7 8 910

Columns % Teacher


https://dl.doubtnut.com/l/_H9tOxoXHT6Wc

° Watch Video Solution

6. Ayush starts walking from his house to office
. Instead of going to the office directly , he
goes to bank first , from there to his daughter
's school and then reaches the office. What is
the extra distance travelled by Ayush in
reaching his office ? (Assume that all distance
covered are in straight lines ). If the house is
situated at (2,4) bank at (5,8), school at (13,14)

and office at (13,26) and coordinates are in km.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_H9tOxoXHT6Wc
https://dl.doubtnut.com/l/_Azx5uyq7VeqQ



https://dl.doubtnut.com/l/_Azx5uyq7VeqQ

